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THE HIGH COURT OF TRIPURA 

AGARTALA 

WRITTEN EXAM CUM SCREENING TEST FOR RERCUITMENT TO THE POST OF  

JUNIOR ADMINISTRATIVE ASSISTANT, JANUARY 2021. 

 

ANSWER KEY 
TOTAL MARKS : 50  

[ Total 100 questions, each question carries  ½ Mark] 
TIME : 1½ HOURS 

 

Directions – Each of the following items in this section consists of a sentence, parts of 

which have been jumbled. These parts have been labeled as P, Q, R & S. Given below each 

sentence are four sequences, namely (a), (b), (c) & (d). You are required to rearrange the 

jumbled parts of the sentence and mark your response accordingly. 

1. for long and the back bone of India will continue to be the same agriculture has been 

            P                 Q R S 

 (a) SPQR  

 (b) SQPR  

 (c) QRSP  

 (d) QSRP 

 Ans : (b) SQPR 

2. the cry of general public agenda in any country  public policy making is generally driven by 

            P                 Q R S 

 (a) RQSP  

 (b) RPSQ  

 (c) PSQR  

 (d) QRSP 

 Ans : (a) RQSP  

3. before it starts  of the government is the essential power the power to manage the conflict 

            P                 Q R S 

 (a) RSPQ  

 (b) SQRP  

 (c) RQSP  

 (d) QRSP 

 Ans : (c) RQSP  

4. a majority of the vote the party that received of the government  Must take control 

            P                 Q R S 

 (a) QPSR  

 (b) PSRQ  

 (c) RSPQ  

 (d) SQPR 

 Ans : (a) QPSR  

CODE  
office use only 
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5. can express a view on in which the electorate 
Particular issue of 
public policy  a  referendum is a vote 

            P                 Q R S 

 (a) SQPR  

 (b) RPQS  

 (c) QRSP  

 (d) PQRS  

Ans : (a) SQPR 

 

6. in modern societies  or merely suppressed  has class conflict Been resolved 
            P                 Q R S 

 (a) RPSQ  

 (b) RSPQ  

 (c) PRSQ  

 (d) QRSP 

Ans : (a) RPSQ  

Direction : Given below are some idioms/phrases followed by four alternative meanings to 

each. Choose the response (a), (b), (c) and (d) which is most appropriate expression and 

mark your response accordingly. 

7. A paper tiger 

 (a) Person or organization that appears powerful but actually is not.  

 (b) Person or organization that acts like a tiger  

 (c) People who campaign for protection of tiger.  

 (d) A daredevil.  

Ans : (a) Person or organization that appears powerful but actually is not.  

 

8. Lily–livered  

 (a) Brave and courageous   

 (b) Not brave  

 (c) Comical  

 (d) Outrageous   

Ans : (b) Not brave 

 

9. Eat like a bird  

 (a) Eat fast   

 (b) Eat very little  

 (c) Eat a lot  

 (d) Pretending to be eating   

Ans : (b) Eat very little 
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10. The dog days  

 (a) Days celebrating dogs   

 (b) The bitter days  

 (c) The hottest days  

 (d) The coldest days  

Ans : (c) The hottest days  

11. A banana republic 

 (a) A small or poor country with a weak government  

 (b) A small or poor country which produces banana  

 (c) A country which has been occupied  

 (d) A country without government   

Ans : (a) A small or poor country with a weak government 

 

12. Prime the pump 

 (a) To do something in order to make something success.  

 (b) To do good things to succeed in life.  

 (c) To do something in order to get bad things done. 

 (d) Asking people to do things to make something success. 

Ans : (a) To do something in order to make something success.  

Direction : Each item in this section consists of a sentence with an underlined word followed 

by four words/ group of words. Select the option that is nearest in meaning to the 

underlined word and mark your response accordingly.  

 

13. All the developments that took place in the 20th century have had implications for 

the next century. 

 (a) Consequences   

 (b) Interferences  

 (c) feedback 

 (d) planning  

Ans : (a) Consequences  

14. He is such a leader that his actions are contagious. 

 (a) Complicated   

 (b) Transmittable  

 (c) Effective 

 (d) Unthinkable   

Ans : (b) Transmittable  
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15. His thesis makes all generic statements which have already been proved. 

 (a) Specific  

 (b) Crude  

 (c) Broad 

 (d) non-standard  

Ans : (c) Broad     

16. The captain produced yet another stellar show to make her team enter the semi-

final. 

 (a) Extraordinary  

 (b) Eclipse  

 (c) Poor 

 (d) Not a great    

Ans : (a) Extraordinary  

17. A new show is trying to change the clichéd depictions of women in animation. 

 (a) Original   

 (b) Hackneyed    

 (c) Crony  

 (d) Artificial 

Ans : (b) Hackneyed  

Direction : Each item in this section consists of a sentence with an underlined word followed 

by four words/ group of words. Select the option that is opposite in meaning to the 

underlined word and mark your response accordingly.  

 

18. He speaks eloquently and can pull crowds. 

 (a) Confusingly    

 (b) Expressively     

 (c) Powerfully  

 (d) Fluently  

Ans : (a) Confusingly  

19. Everyone has to fight the inertia in the system. 

 (a) Sluggishness    

 (b) Indolence      

 (c) Activity  

 (d) Torpor   

Ans : (c) Activity  
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20. There is a need to promote philanthropy in education.. 

 (a) Charity     

 (b) Benevolence      

 (c) Nastiness   

 (d) Likeness   

Ans : (c) Nastiness  

21. What we lack in current times is compassion. 

 (a) Empathy     

 (b) Carefulness       

 (c) Indifference    

 (d) Hardship    

Ans : (c) Indifference  

22. The highest award was bestowed upon her for her yeoman service. 

 (a) Conferred   

 (b) Withdrawn  

 (c) Imparted    

 (d) Imbibed    

Ans : (b) Withdrawn    

Direction : Each of the following sentences in this section has a blank space and four words/ 

group of words are given after each of the sentence. Select the most appropriate word/ 

group of words for the blank space and indicate your response accordingly :  

 

23. The chair person said that the group was ____________ of time. 

 (a) running out  

 (b) running   

 (c) running with  

 (d) run out 

Ans : (a) running out  

24. If I ___________ an angel, I would solve the problems of people India. 

 (a) am  

 (b) were   

 (c) was  

 (d) have 

Ans : (b) were  
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25. Where there is a  ___________, there is a way.  

 (a) way  

 (b) road   

 (c) wing  

 (d) will 

Ans : (d) will  

26. The police could not establish how the accident ___________, 

 (a) came off  

 (b) came about  

 (c) came on  

 (d) came out 

Ans : (b) came about  

27. I ___________ my old friend after twenty years. 

 (a) ran into  

 (b) ran in  

 (c) run in 

 (d) run on 

Ans : (a) ran into 

Direction : In this section a word is spelt in four different ways. Identify the one which is 

correct. Choose the correct response from (a), (b), (c) and (d) and indicate accordingly:  

 

28. Which one of the following alternatives has the correct spelling? 

 (a) Neuphvology 

 (b) Nephrology   

 (c) Neprology  

 (d) Neaprology 

Ans : (b) Nephrology  

29. Which one of the following alternatives has the correct spelling? 

 (a) Psudonym 

 (b) Pseudonym    

 (c) Pseudanym  

 (d) Scedonym 

Ans : (b) Pseudonym  
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30. Which one of the following alternatives has the correct spelling? 

 (a) Pnumonia 

 (b) Neumonia    

 (c) Pneumonia  

 (d) Numonia 

Ans : (c) Pneumonia  

Directions – Each items in this section has a sentence with three underlined parts labeled as 

a, b & c. Read each sentence carefully to find out whether there is any error in any 

underlined part and indicate response against the corresponding letter i.e. (a), (b) & (c). If 

you find no error, your response should be indicated as (d).  

 

31. After  mysteriously  expa nding  for  decades ,

𝐚
  

 Antarctica ‟s sea  ice  cover  

𝐛
   

starting melting .  

𝐜
     

No error 

𝐝
 

 (a)  (b)   

 (c)  (d)  

Ans : (c) 

 
32. The  auction  conducted  by  the  bank  

a
  

 will  be  price  based

b
   

using multiple priced method.  

c
     

No error 

d
 

 (a)  (b)   

 (c)  (d) 

Ans : (c)  

 
33. If  the  scheme  would  have  been  implemented  effectively

a
  

 all  affected  

b
   

would have benefitted .  

c
     

No error 

d
 

 (a)  (b)   

 (c)  (d) 

Ans : (a) 

 
34. Government  stock  offers  

a
  

 safety ,liquidity  and  attractive  returned  

b
   

for long duration.  

c
     

No error 

d
 

 (a)  (b)   

 (c)  (d) 

Ans : (b) 
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35. Scrolling  thorough  my  social  media  timeline  

a
  

 I hovered  over  a vedio   

b
   

of a minor road traffic accidant .  

c
     

No error 

d
 

 (a)  (b)   

 (c)  (d) 

Ans : (a) 

 

36. The  fascination  with  gold  at  least   

a
  

 seems  to  be  a case  were  traditional  belief  and    

b
   

modern finance would point the same way.  

c
     

No error 

d
 

 (a)  (b)   

 (c)  (d) 

Ans : (b) 

Directions – Each of the following sentences in this section has a words/phrase underlined. 

Read the sentences carefully and find which part of speech the underlined word/phrase 

belongs to. Indicate your response accordingly: 

 

37. He has been working in the Department of Atomic Energy since 2014. 

 (a) Adverb  

 (b) Adjective  

 (c) Intensifier   

 (d) Noun 

Ans : (c) Intensifier 

  

38. The man in dark blue is the one who made us win the match. 

 (a) Relative clause  

 (b) Interrogative Pronoun  

 (c) Relative Pronoun    

 (d) Affirmative 

Ans : (c) Relative Pronoun  

39. The most beautiful actress of the industry was awarded today. 

 (a) Adjective  

 (b) Numeral   

 (c) Adverb    

 (d) Noun 

Ans : (c) Adverb  
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40. “What is the latest news?” asked the captain. 

 (a) Relative Pronoun  

 (b) Adjective  

 (c) Adverb    

 (d) Adjectival clause 

Ans : (b) Adjective  

 

41. Noticing the change in behaviour of the officer, the cadets returned to their position. 

 (a) Participle  

 (b) Present Continuous   

 (c) Noun Phrase    

 (d) Noun 

Ans : (c) Participle  

42. When he reached the department, the officials had left for meeting. 

 (a) Past perfect verb  

 (b) Past tense  

 (c) Dependent clause     

 (d) Independent clause 

Ans : (a) Past perfect verb  

43. He has offered her another chance. 

 (a) Intransitive verb  

 (b) Past Tense   

 (c) Perfect Tense    

 (d) Transitive verb 

Ans : (c) Perfect Tense  

44. The building is very ancient. 

 (a) Transitive verb  

 (b) Intransitive verb  

 (c) Phrasal Verb    

 (d) Auxiliary Verb 

Ans : (d) Auxiliary Verb  

45. Hurrah ! What a scintillating beauty the landscape is. 

 (a) Conjunction  

 (b) Adjective   

 (c) Adverb    

 (d) Interjection 

Ans : (d) Interjection  
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46. In which of the following type of forest maximum plant diversity is found?  

 (a) Tropical moist deciduous forest.  

 (b) Sub-tropical mountain forest  

 (c) Temperate moist forest  

 (d) Tropical evergreen forest 

Ans : (d) Tropical evergreen forest  

47. As per census 2011, which among the following states recorded the lowest 

percentage of urban population? 

 (a) Tripura  

 (b) Sikkim  

 (c) Arunachal Pradesh  

 (d) Himachal Pradesh 

Ans : (d) Himachal Pradesh  

48. As per census 2011, which among the following states is second in India in its literacy 

rate and the level of urbanization? 

 (a) Mizoram  

 (b) Maharastra  

 (c) Tamilnadu  

 (d) Tripura 

Ans : (a) Mizoram  

49. Two union Territories which have been given the right to take part in the election of 

President of India by 70th Amendment of Indian Constitution are –  

 (a) Delhi and Chandigarh  

 (b) Delhi and Puduchery   

 (c) Delhi and Daman & Diu  

 (d) Chandigarh and Puduchery  

Ans : (b) Delhi and Puduchery 

50. According to the Article 170 of the Indian Constitution the minimum and maximum 

strength of members of a Legislative Assembly in a state can be respectively –  

 (a) 40 & 400  

 (b)50 & 450   

 (c) 50 & 500 

 (d) 60 & 500 

Ans : (d) 60 & 500  
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51. In Which of the Articles of the Indian Constitution, the abolition of un-touchability  

has been guaranteed?  

 (a) Article 14  

 (b) Article 15  

 (c) Article 16 

 (d) Article 17 

Ans : (d) Article 17  

52. The Administrative Reforms Commission 1967, which for the first time recommended 

for setting up of Lokpal and Lokayukt was headed by ________.  

 (a) Morarji Desai  

 (b) K. Somnathan  

 (c) Chowdhury Charan Singh 

 (d) Babu Jagjivan Ram 

Ans : (a) Morarji Desai  

53. Which one of the following Traveller and Country is not correctly matched? 

 (a) Ibn Batuta ––– Morocco  

 (b) Marco Polo ––– Italy  

 (c) Abdru Razzaq ––– Turkey  

 (d) Nuniz ––– Portugal 

Ans : (c) Abdru Razzaq ––– Turkey 

54. What does „Trivatra’ mean in Buddhuism? 

 (a) Tripitaka  

 (b) Buddha, Dhamma, Sangha  

 (c) Sheel, Samadhi, Sangha  

 (d) Satya, Ahinsa, Karuna 

Ans : (b) Buddha, Dhamma, Sangha  

55. Who among the following Chisti Saints is known as Chirag-e-Delhi? 

 (a) Mui-Ud-din  

 (b) Farid-Ud-din  

 (c) Nizam-Ud-din Aulia   

 (d) Nasiruddin 

Ans : (d) Nasiruddin 

56. „Aadi Varaha‟ was the title of which Gurjar Pratihara Ruler? 

 (a) Vatsaraja  

 (b) Nagbhatta-II  

 (c) Mihir Bhoja  

 (d) Nagbhatta-I 

Ans : (c) Mihir Bhoja 
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57. Which of the following pairs is not correctly matched? 

 (a) Nasik ––– Gautami Putra  

 (b) Hathigumpha ––– Kharavela  

 (c) Bhitari ––– Pulekeshin II  

 (d) Girnar ––– Rudradaman I  

Ans : (c) Bhitari ––– Pulekeshin II 

58. Kuka movement was founded in   

 (a) Bengal  

 (b) Bihar  

 (c) Punjab  

 (d) Maharastra 

Ans : (c) Punjab  

59. Which one the following person was not associated with Azad Hind Fauz? 

 (a) Major General Shahnauz Khan  

 (b) Colonel Prem Kumar Sehgal  

 (c) Colonel Shaukat Ali Malik  

 (d) Major Kartar Singh 

Ans : (d) Major Kartar Singh  

60. Consider the following events. 

1. August Offer 

2. Poona Pact 

3. Third Round Table Conference 

4. Communal Award 

Arrange the above events in chronological order and select the correct answer from 

the codes given below : 

 (a) 4, 3, 2, 1  

 (b) 4, 2, 3, 1  

 (c) 2, 1, 3, 4  

 (d)3, 2, 1, 4 

Ans : (b) 4, 2, 3, 1  

61. Which one of the following pairs is not correctly matched? 

 (a) Local Self Government ––– Lord Lytton  

 (b) Subsidiary Alliance ––– Lord Weleasley 

 (c) Doctrine of Lapse  ––– Lord Dalhousie  

 (d) Permanent Settlement  ––– Lord Cornwallis  

Ans : (a) Local Self Government ––– Lord Lytton 
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62. Which one of the following scales of temperature does not have a negative value?  

 (a) Celsius   

 (b) Fahrenheit  

 (c) Kelvin  

 (d) Reaumur  

Ans : (c) Kelvin  

63. Which one of the following is not a unit of heat?  

 (a) Centigrade  

 (b) Calorie  

 (c) Erg  

 (d) Joule  

Ans : (a) Centigrade  

64. The silk produced by the spider is called_________ . 

 (a) Tussor Silk  

 (b) Munga Silk  

 (c) Gossamar Silk  

 (d) Ahinsa Silk 

Ans : (c) Gossamar Silk  

65. The total amount blood present in a normal human adult (of 70 Kg weight) is ___.  

 (a) 6000 ml 

 (b) 5000 ml  

 (c) 4000 ml  

 (d) 3000 ml 

Ans : (b) 5000 ml 

66. Which one of the following enzymes converts protein into amino acids?   

 (a) Pepsin  

 (b) Lactose  

 (c) Urease   

 (d) Zymase  

Ans : (a) Pepsin  

67. Which one of the following pairs is not correctly matched? 

 (a) Vitamin D –––  Rickets  

 (b) Vitamin C –––  Bleeding Gums  

 (c) Vitamin A –––  Rheumatism  

 (d) Vitamin B1 –––  Beriberi 

Ans : (c) Vitamin A ––– Rheumatism  
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68. The tenure of every Panchayat in India is five years from ________. 

 (a) The scheduled date of its first meeting.  

 (b) The date of notification of election.  

 (c) The date of declaration of election results.  

 (d) The date of auth of office by members. 

Ans : (a) The scheduled date of its first meeting.  

69. Which among the following is not mentioned in the Preamble to the Constitution of 

India? 

 (a) Social Justice  

 (b) Economic Justice  

 (c) Political Justice  

 (d) Religious Justice 

Ans : (d) Religious Justice  

70. Which one of the following is the „energy currency‟ for cellular processes? 

 (a) Glucose 

 (b) ATP  

 (c) ADP  

 (d) Pyruvic Acid 

Ans : (b) ATP  

71. Mahatma Gandhi‟s Dandi March, a great event in Indian freedom struggle, was 

associated with __________. 

 (a) Iron  

 (b) Sodium Chloride  

 (c) Sulphur   

 (d) Aluminum  

Ans : (b) Sodium Chloride  

72. Which one of the following is the first enzyme to mix with food in the digestive tract?  

 (a) Trypsin  

 (b) Cellulose  

 (c) Pepsin  

 (d) Amylase 

Ans : (d) Amylase  
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73. On 31st December 1929, in which of the following Congress Session was proclaimation 

of Purna Swaraj made? 

 (a) Ahmedabad   

 (b) Calcutta  

 (c) Lahore  

 (d) Lucknow 

Ans : (c) Lahore  

74. Nyshi tribe is found mainly in  

 (a) Andaman and Nicobar  

 (b) Arunachal Pradesh  

 (c) Nilgiri - Kerala  

 (d) Kashmir Valley 

Ans : (b) Arunachal Pradesh  

75. In the field of tourism, which one of the following Indian states is described as „One 

State Many Worlds‟? 

 (a) Assam  

 (b) West Bengal  

 (c) Karnataka  

 (d) Rajasthan 

Ans : (c) Karnataka  

76. Who among the following was the Best Men‟s Player Award of FIFA Football Awards, 

2019? 

 (a) Cristiano Ronaldo  

 (b) Virguil Van Djik  

 (c) Lionel Messi  

 (d) Xavi 

Ans : (c) Lionel Messi  

77. In September 2019, which one of the following travel giants declared itself bankrupt? 

 (a) Expedia  

 (b) Cox & Kings  

 (c) SOTC  

 (d)Thomas Cook 

Ans : (d)Thomas Cook  
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78. Amitabh Bachchan was recently conferred with the prestigious Dada Shaheb Phalke 

Award. Who among the following was the first recipient of the award?  

 (a) Prithvi Raj Kapoor  

 (b) Debika Rani  

 (c) Sohrab Modi  

 (d) Naushad 

Ans : (b) Debika Rani  

79. Which of the Articles of the Constitution of India protects a person against double 

jeopardy?   

 (a) Article 20  

 (b) Article 21  

 (c) Article 22  

 (d) Article 23 

Ans : (a) Article 20  

80. The „Tattvabodhini Sabha‟ was established by _________. 

 (a) Debendranath Tagore in 1839  

 (b) Keshab Chandra Sen in 1857  

 (c) Akshay Kumar Datta in 1858  

 (d) Daraka Nath Tagore in 1840 

Ans : (a) Debendranath Tagore in 1839  

81. Gandhi Solar Park‟ is located at ____________ . 

 (a) Newyork   

 (b) Vladibostok  

 (c) Thimphu  

 (d) Housten 

Ans : (a) Newyork  

82. Which one of the following Articles was defended by Dr. B.R. Ambedkar on the plea 

that it would be used as „a matter of last resort‟? 

 (a) Article 352  

 (b) Article 359  

 (c) Article 356  

 (d) Article 368 

Ans : (c) Article 356  
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83. Which one of the following is the best addition to the AYUSH group of health care 

system? 

 (a) Unani  

 (b) Siddha  

 (c) Sowa-Rigpa  

 (d) Reiki 

Ans : (c) Sowa-Rigpa  

84. Which one of the following was the host country for World Tourism Day, 2019? 

 (a) USA  

 (b) India  

 (c) Russia   

 (d) Canada 

Ans : (b) India  

85. Naropa‟ is an annual festival of ____________ . 

 (a) Sikkim  

 (b) Ladakh  

 (c) Arunachal Pradesh  

 (d) Nagaland 

Ans : (a) Sikkim  

 

86. If SISTER is coded as 212345and ARC as 658, then ARREST will be coded as – 

 (a) 655243  

 (b) 655423  

 (c) 655324  

 (d) 655325 

Ans : (b) 655423  

 

87. A‟s brother is B. B‟s wife is C. E is the daughter of A. D is the son of B. F is the 

brother of E and G is the sister of D. A is what of G? 

 (a) Father  

 (b) Brother  

 (c) Uncle  

 (d) Cousin  

Ans : (c) Uncle  
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88. As boats are to horses so is sailing to _________  

 (a) Cavalry  

 (b) Gliding  

 (c) Riding  

 (d) Navigating 

Ans : (c) Riding  

 

89. Looking at a portrait of a man Snjay said, “His mother is the wife of my father‟s son. I 

have no brother and sister.” At whose portrait Sanjay was looking? 

 (a) His son  

 (b) His nephew  

 (c) His cousin  

 (d) His father 

Ans : (a) His son  

 

90. A monkey climbs 16 m up a slippery pole. It rises 1 m in one minute and slips ¼ m in 

the next minute. It will reach the top in _______  

 (a) 30 minutes  

 (b) 32 minutes  

 (c) 36 minutes  

 (d) None of the above  

Ans : (d) None of the above 

91. What is the next letter in the sequence –  B,  D,  G, K, P, ………….  

 (a) T  

 (b) U  

 (c) V  

 (d) W 

Ans : (c) V  

92. A is a taller than B but not as tall as C. D is taller than E but not as tall as B. E is 

taller than F but not as tall as D. Who among them is the tallest? 

 (a) B  

 (b) C  

 (c) D  

 (d) F 

Ans : (b) C  
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93. What is the male literacy rate(%) as per the 2011 census, in Tripura? 

 (a) 93%  

 (b) 91.5 %  

 (c) 82.7%  

 (d) None of the above 

Ans : (b) 91.5 %  

94. What is the length of border (in kilometer) of Tripura with Mizoram? 

 (a) 100 km  

 (b) 53 km  

 (c) 69 km  

 (d) None of the above 

Ans : (d) None of the above  

95. Which district of Tripura has the smallest population? 

 (a) North District  

 (b) Unakoti District  

 (c) Khowai District  

 (d) None of the above 

Ans : (b) Unakoti District  

96. The first Olympian from Tripura was ________ . 

 (a) Somdeb Debbarman  

 (b) Saraswati Dey Saha  

 (c) Dipa Karmakar  

 (d) Lopamudra Ghosh 

Ans : (b) Saraswati Dey Saha  

97. Which is the longest river of Tripura? 

 (a) Gomati  

 (b) Manu  

 (c) Dhalai  

 (d) None of the above 

Ans : (b) Manu 
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98. Who founded the capital city „Agartala‟? 

 (a) Maharaja Krishna Kishore Manikya  

 (b) Maharaja Radha Kishore Manikya  

 (c) Maharaja Bir Bikram Kishore Manikya  

 (d) Maharaja Bir Chandra Manikya Bahadur 

Ans : (a) Maharaja Krishna Kishore Manikya  

99. How many members are nominated to the TTAADC by the Governor at present?  

 (a) 4  

 (b) 2  

 (c) 3  

 (d) None of the above 

Ans : (b) 2  

100. On which day in Tripura, KOKBOROK day is celebrated? 

 (a) 19th January  

 (b) 15th October  

 (c) 21st February  

 (d) None of the above  

Ans : (a) 19th
 January 

 


